
SAP ABAP table CRMT_MKTVL_RESULT {Internal Results Table}

CRMT_MKTVL_RESULT

CO [CHAR (3)]

DC [CHAR (2)]

DV [CHAR (2)]

PG [CHAR (3)]

CG1 [CHAR (3)]

CRMC_CUSTGRP1

CLIENT [CLNT (3)]

CUST_GROUP1 [CHAR (3)]

 CRMT_MKTVL_RESULT-CG1 = CRMC_CUSTGRP1-CUST_GROUP1 
0..N

0..N

CRMC_DISTCHAN

CLIENT [CLNT (3)]

DISTCHAN [CHAR (2)]
 CRMT_MKTVL_RESULT-DC = CRMC_DISTCHAN-DISTCHAN 0..N

0..N
CRMC_DIVISION

CLIENT [CLNT (3)]

DIVISION [CHAR (2)]

 CRMT_MKTVL_RESULT-DV = CRMC_DIVISION-DIVISION 
0..N0..N

CRMC_PRC_GRP1

CLIENT [CLNT (3)]

PRC_GROUP1 [CHAR (3)]

 CRMT_MKTVL_RESULT-PG = CRMC_PRC_GRP1-PRC_GROUP1 

0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 CRMT_MKTVL_RESULT-CO = T005-LAND1 

0..N

0..N


